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HIXHT 4 £ £ BT RLS: (SR T ¥ & A % OH
FEX 0.8 0.7 0.9 0.8 0.0
147, 000 445, 900 89, 000 260, 500 10, 100
23 23 15 15 1 1 39 39 1 1
] X 0.0 0.1 0.0 0.0
114, 000 194, 200 83, 500 134, 400
16 16 8 8 3 3 27 27
TE KX -1.6 =0.7 =0.5 -1.3
77, 600 124, 200 59, 200 86, 400
22 22 8 6 4 4 34 32
wEE Ak 0.3 0.2 -0. 1 0. 1 0.0
113, 300 298, 000 72, 000 167, 300 10, 100
61 61 31 29 8 8 100 98 1 1
X 0.5 0.5 0.5
94, 600 197, 200 138, 200
23 23 17 17 40 40
X 0.2 1.4 0.4 0.5
71, 000 107, 600 55, 800 78, 300
9 9 3 3 1 1 13 13
T X -0.5 -0.3 0.6 -0.4 -1.1
51, 600 64, 000 34, 200 52,100 870, 000
11 11 2 2 1 1 14 14 1 1
X -1.4 0.0 0.3 1.1
46, 600 81, 000 40, 100 48,700
11 11 1 1 1 1 13 13
JEX -1.4 -1.6 -1.5 -1.2
32,900 48,700 38, 600 557, 000
7 7 4 4 11 11 2 2
TEALIX 0.6 0.0 0.5
60, 800 83, 800 64, 100
6 6 1 1 7 7
K 7 X -2.8 2.5 2.7 =0.7
10, 000 24, 500 14, 000 26, 800
8 8 3 3 11 11 1 1
TERA T ot =0.5 0. 1 0.4 0.3 -1.0
60, 900 136, 600 43,400 82, 000 502, 700
75 75 31 31 3 3 109 109 4 4
T -2.3 2.2 0.0 2.2 -0.8
76, 500 147, 200 51, 500 92, 400 1, 200, 000
25 25 8 8 1 1 34 34 1 1
NI —2.4 6.4 0.3 0.6
52, 300 140, 700 76, 400 153, 000
8 7 3 3 11 10 1 1
=B =0. 1 1.2 0.3 -1.4
107, 200 211, 800 137,100 695, 000
10 10 4 4 14 14 1 1
ERNEi -1.0 -0.8 0.0 =0.9 -1.4
36, 600 69, 100 28, 600 41, 000 441, 000
26 26 5 5 2 2 33 33 2 2
G 0.2 -1.9 -1.3 -1.4
32,100 83, 200 64, 100 136, 000
3 3 5 5 8 8 1 1
E i -1.3 =2.2 0.0 -1.5 -1.2
49, 000 54, 400 30, 800 49, 200 425, 000
11 11 4 4 1 1 16 16 1 1
EEai -0.8 -0.6 1.1 =0.7 =0.9
61, 300 83, 800 40, 300 65, 300 333, 000
34 34 10 10 2 2 46 46 1 1
B =0.5 -1.1 0.9 0.6 -1.2
45, 900 60, 100 22,000 48, 400 830, 000
18 18 6 6 1 1 25 25 1 1
R -1.2 -1.8 -1.3
48,100 68, 700 50, 500
15 15 2 2 17 17
BT 1.1 -1.3 0.0 1.1 -1.4
41, 700 63, 200 25, 400 47, 600 773, 000
12 12 6 6 1 1 19 19 1 1
R T -0.3 -0.6 0.0 -0.3 —1.1
59, 100 73, 800 43, 400 61, 800 187, 000
16 16 5 4 1 1 22 21 1 1
TR B -0.1 -0.6 1.0 -0.1 -1.2
66, 700 92, 700 29, 300 65, 800 241, 000
10 10 1 1 1 1 12 12 1 1
SFET =0.7 =0. 1 0.6 =0.4
38, 400 56, 400 35, 200 42, 600
8 8 3 3 1 1 12 12
ek -1.5 -1.2 -1.4
56, 500 87, 600 66, 800
2 2 1 1 3 3




XA 4 £ M 5 LA [ i T % # 2 f & o
TR -0.5 0.0 -0.5 0. 4 -1.8
74, 100 118, 000 40, 600 75, 100 112, 000
8 8 1 1 1 1 10 10 1 1
W76 -1.3 0.0 0.0 -1.0 —2.2
45, 200 78, 900 23,900 46, 700 900, 000
6 6 1 1 1 1 8 8 1 1
fra -3.0 -3.3 -3.1 -1.3
31, 000 51, 700 38, 500 37, 000
7 7 4 4 11 11 1 1
FEVRITIRF T -1.7 —0.8 -1.5 -1.5
14, 200 25, 300 16, 400 330, 000
4 4 1 1 5 5 1 1
EIIER -0.5 =0.9 0.6
27,000 56, 600 34, 400
3 3 1 1 4 4
PG OETH -1.9 -1.3 -1.7
60, 600 89, 500 69, 300
7 7 3 3 10 10
T JE -1.8 -2.3 1.1 -1.9 =2.9
29, 700 33, 200 17, 600 28,900 893, 000
3 3 2 2 1 1 6 6 1 1
T = 1.1 =0.9 0.2 -1.0 -1.4
54, 600 87,900 32, 700 61, 400 478, 100
236 235 76 75 14 14 326 324 17 17
Beaahiat 0.8 -0.5 0.1 =0.7 -1.3
65, 500 146, 000 46, 600 85, 400 461, 300
372 371 138 135 25 25 535 531 22 22
P EHT 2.3 -3.5 =2.9 -1.0
31, 000 54, 900 39, 000 97, 000
2 1 1 1 3 2 1 1
T FER] —2.4 =2.0 -2.3 0.0
22,700 38, 600 28, 000 28, 000
2 2 1 1 3 3 1 1
A EHT -1.8 -1.8
14, 400 14, 400
2 2 2 2
TR H] -4.5 4.1 -4.3
20, 100 45, 000 28, 400
2 2 1 1 3 3
T Ot o BT -3.6 -1.2 3.7
23, 400 41, 300 27, 000
4 4 1 1 5 5
4 e B =0.7 =0.9 -0.8 =0.9
92,700 108, 000 95, 300 446, 000
5 5 1 1 6 6 1 1
KT —0. 2 -1.6 0.6
112, 200 125, 000 115, 400
3 3 1 1 4 4
=Rl 0. 1 1.4 0.2
107, 700 141, 000 114, 400
4 4 1 1 5 5
NILET =0.5 -1.0 0.0 =0.5
34, 500 47,500 24, 500 34,900
6 6 1 1 1 1 8 8
| -1.0 -2.8 -1.6
39, 000 24, 600 34, 200
2 2 1 1 3 3
TR AHET 2.7 -1.1 2.4
9, 900 26, 400 13, 200
4 4 1 1 5 5
ZRHT —1.1 =0.3 =0.8
27, 300 38, 700 31,100
2 2 1 1 3 3
TR -1.5 -1.8 0.0 -1.6 =0.6
49, 500 62, 800 24,500 51,900 190, 300
38 37 11 11 1 1 50 49 3 3
P 2 -0.9 -0.6 0.1 -0.8 -1.2
64, 000 139, 900 45, 700 82, 500 428, 800
410 408 149 146 26 26 585 580 25 25
BB R g
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